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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. | AT

1 RN BT USIIHH & TR -y @t srazgwan g
1. Self-actualization / 3{TH-fARATT

2. Physiological needs | Tor T STagehdl

3. Belongingness and love needs / fayrT 3R WR & 3a=gehdl

4. Esteem needs / G@I EEIIY

Correct Answer :-

« Self-actualization / 3T&-faTawor

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & TR, 3¢ Rigid IR AfRId BT B AT YN FTferd giar 82
1. Ego ideal / 37 3Mexl (37 &M330)

2. Superego / TRTE (YU

3. 1d / U89 (31331

4. Ego / 38 (31M)

Correct Answer :-

. 1d/UgdH (3158

3) What is the time in a child’s life between childhood and adulthood known as? / dlcdTdT

3R TURET & §1 TP T & Siia- 6 B9 91 90 gl 82
1. Adolescence / T RIRTIRIT
2. Menarche / m@ﬁ



3. Middle childhood / H& dlcHTdRIT
4. Puberty / BIGE]

Correct Answer :-

« Adolescence / |$Qi|€|agﬂ

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us

solve problems? / AT “3{gI!” &mmaﬁrmﬁ%ﬁqﬁﬂmwﬁmw%ﬁﬁ
F-HH g0 T B 7 B A He HIAT R?

1. Flashbulb / i< e
2. Insight / &lﬁ%@

3. Observation / QI
4. Deduction / TRRUMY

Correct Answer :-

« Insight/ Glﬁ%fg

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure?/Wuﬁ&maﬁ&mﬁ%ﬁamﬁ%mﬁquﬁmw
2, P srg=uar 3 9= & fore 52 fewims= frar man 82

1. Norms / AMCS
2. Reliability / fay@=igar
3. Reasoning / GEg

4. Validity / &

Correct Answer :-

« Reliability / fayF=Iaar

6) Benefits of Inclusive Education are: / THTARI ﬁT&IT & A %
1. Develops moral and ethical principles only / Had Afad AR ifaema Rigia fasfid s

2. Increases communication and social skills only / Had JaR 3R IS DI del-l

3. Increases acceptance and appreciation of diversity only / Fad fafaedr ot W 3R U=
del-l

4. All of the above / ITgad T+t



Correct Answer :-

« All of the above / Iudad Tt

7) The urge to provide care and protection to offspring is motive. / Tl &I G@HTA

IR TCHPASIAIE AR
1. Sex /A

2. Maternal motive / ATq STHTROM

3. Achievement / U

4. Affiliation / G

Correct Answer :-

« Maternal motive / HI TR

8) Which of Erikson’s stages of psychosocial development results in the virtue of

%)%pgtence? /W%Wﬁﬁ%ﬁ@ﬂﬁmmm

1. Trust vs. mistrust / TAYTT S99 Sifayry

2. Intimacy vs. isolation / Elﬁ@?n JTH A

3. Ego integrity vs. despair / 38 3RASdl CEIERENE|
4. Industry vs. inferiority / URYH S99 gl

Correct Answer :-

+ Industry vs. inferiority / URSH I Bl

9) Which of the following strategies cannot be used by a teacher for a mentally retarded

learner? / T8I gRT AR U & He Rrendf @ ?) & fore Fufafag & 9 fog ord-
fofa &1 w8t favan o wwar 32

1. Breaking smaller tasks into large steps. / B HieT Hrl E@ P # fyuIford &z

2. Presenting the information to learner using visual aids. / €9 TS &l I R Rremeff (L_*FTT) CARSIECAR]
U¥d PRI

3. Involving the learner in group activities. / g Tfafafiral & fRremeff (?FTT) HI A BT

4. Providing the learner with immediate feedback. / fRremaff (?FTT) P! d@Td Uldfhar Ta &A1

Correct Answer :-

« Breaking smaller tasks into large steps. / DI Hid B q I8 BRI H fAUTRTG BT



10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 33T 3T @Al & AR, BT B fH ot A snsearss nfafafiral & wew A 9t siftre
HUTST 82

1. Social / TS
2. Phantom/ﬁ?‘q
3. Successful / H Al

4. Dependent / R

Correct Answer :-

« Social / GTHTIIH

11) Specialized teaching strategy geared toward supporting student’s learning is BAF

Hram &1 90l F31 & fog dar fafkre Rrgror orifa gl
1. Writing/@@tf
2. Scaffolding / BT

3. Reading / UT&

4. Brainstorming / fAaR-FY=

Correct Answer :-

« Scaffolding / WHBIET

12) Which of the following is not one of the main method of deriving traits? / FrafIfEd o & war @gror
T B34 9t gt fafy & & v 7 82

1. Hypothetical / UTdh cUTHD
2. Lexical / Qe

3. Statistical / HIRHFBI

4. Theoretical / Sgifaed

Correct Answer :-

« Hypothetical / TTaHeT-TTHD

13) Which of the following is true about modern evaluation? / TP eai®H- & IR | fAufafaa o
| B4 | HE B2

1. Summative evaluation / q\l‘lldj-lob J-cl\qqidﬁ'l

2. Continuous evaluation / Idd el



3. Product orientation / 3dIq CFE[@TWUT

4. Rote learning / I¢HR HRGT

Correct Answer :-
« Continuous evaluation / gdd Hedlh

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / fafafadd & faom, e
IR IR HRIHH Ft Y1 T SR fIafka w3 & o Hfga 781 dar g2

1. Financial / fa<ig

2. Personal / SfadiTd

3. Social / AT

4. Academic & career / Q&0 3R HRAR

Correct Answer :-

o Financial / ﬁ?ﬂ‘q

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fra TP § v feaudr & agd Uipfa® fae™ &1 te s Sfed YR &1
faeqa faram?

1. Baldwin / STeSTa
2. Erikson / sﬁ_cr\:ﬂ
3. Piaget / BRI

4. Vygotsky / ATTTIep!

Correct Answer :-

« Baldwin / STcgieH

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / CEGE] aniaqﬁa?w H
A g s1aF 8

1.1
2. 15
3.10

4.0

Correct Answer :-

e 15



17) The environment in which children grow up will how they think and what they think

%bout./mqﬁﬁmﬁaﬁa%ﬁ?r%;a? Pd1 ¢ I a8 FA Hiadar 2 iR a8 =1 daar
|

1. maintain / aﬂf@ﬁ
2. weaken and disturb / HHSIR 3‘h? WY
3. scare / SX[I

4. influence |/ THIfad

Correct Answer :-

« influence / gHIfad

18) Gender division is defined as ./ Ty a1 & ¥0 # gRyia
frarmar gl

1. Division between male employees and female employees. / Y2¥ ﬁ?ﬁﬁﬁﬁ%@a
fqUTSH |

2. Biological differences between males and females. /W ﬁ?@@\ﬁ%@ﬁﬂm 3N |

3. Male to female ratio. / G4 ¥ HfgelI3fl &1 SUId |

4. The hierarchal roles of males and females within society. / JHIS & 3iafd W 3R II%ETGﬁ P
ey YHdHTa|

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3faifd go®l iR Afgarsii &
U HHeBTSf |

19) What is teaching through deductive method? / e fafer g Rreor =ar %?
1. From macro to micro / Aol I Iﬂ%ﬁ ddh
2. From general to specific / I ¥ ARy d&

3. From specific to general / fafRry & 9= de
4, From easy to difficult / 3T J Hied dd

Correct Answer :-

» From general to specific / ATHTI Y fafy 9%

20) Students don’t want to learn new concepts which are ____. / @ fagmffst ___ &
? 91 ¢ srayrRumSii B WA A TrEd ¥ |



1. Ambiguous / Tferende
2. Intelligible / §fGITRT

3. High quality / RSN

4. Plausible / Siep-foR

Correct Answer :-

+ Ambiguous / I e

21) Which of the following statements is NOT true? / fufaf@d Y1 # ¥ Fi9 I1 94 &)

e
1. Some diseases and disorders are a product of inheritance. / P& AT IR faBR CRURAK] gl

2. Enriched environment enhances child’s development. / dH& dTdIdRU] g o A BI deldl %I

3. All genetic disorders can be prevented by taking proper measures. / SFId Iurd Fvep gt e—naaﬁw

fIHRI B AT N THA 5|
4. Children are able to learn more finite skills through play. / T T & 71H T 34fp uRfAd S
A A gem g

Correct Answer :-

 All genetic disorders can be prevented by taking proper measures. / S U HRah et &W

PRI B ApT ST GHdT B |

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

e & TS e & Rigia ¥, gd Siharars s &1 aed | e?
1. Operational thought / dfhardsd faar

2. Abstract concepts / &Pff STTYROMT

3. Object permanence / 9¥] fRURar

4. Symbolic thought / UclidbTa® fdaR

Correct Answer :-

e Operational thought / dfrardsd faar

23) Which of the following is not a concept related to classical conditioning? / Fufafaa 7 9 #19 @

FaTI®t el (RRUfART wggen) @ Tafta sraurom 78 82
1. Neutral stimulus / I Eﬁw

2. Conditioned response / Wﬁlﬁ 3171'@771'[
3. Shaping / fegur (‘\ﬁfﬁﬂ)



4. Stimulus generalization / EE‘TW IR

Correct Answer :-

 Shaping / Ao (Eaﬁ"T)

24) Each child is unique. This statement refers to the principle of: / Y& g=T 3ifgd1y B
g Y ¥ Rigia @) deffa srar 21

1. Continuity / IBEGEGII

2. Uniform Pattern / Th=Udl

3. Integration / QWI'@WT

4. Individual Differences / daTas oz

Correct Answer :-

e Individual Differences / atr% ferdr

25) Similar attributes are combined together by the child to form i &
frafor & 5= g1 U 9y T faRivare &Y frere s=man Srar @

1. Concepts / 3dYRU

2. Letters / 3{&R

3. Words / Rog
4. Judgments / AFHIT

Correct Answer :-
e Concepts / 3[dYRU

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / &fre TRHIU A frg R o= Ffgd FA A 7=
ATAE ad 3R AT F =S A T B &:

1. Writing skills / TG @l
2. Scientific ideas / 33|Tﬁ$ feR

3. Communication / IR

4. Student activity / ﬁ?ﬂzﬁﬂqﬁ{

Correct Answer :-

« Scientific ideas / 33T faaR



Inclusive education is a new towards educating the children with disabilities. /

AT fRrequr, feeai a=) &) Rféa #3131 fawn & ve 74 gl
1. Demand/rlﬁlv"T

2. Approach / 3UNTH @@aﬁm)
3. Direction / G (fa=m)
4. Process / Ufopar

Correct Answer :-

« Approach / SUNTH (PPN

28) Ignoring of the learning- readiness would result in ./ ST - qeRdT B SueT
& AR W ufvoms &t

1. Development / fd&ra
2. Maturation / GRT&dI

3. Improvement / YR

4. Frustration / R

Correct Answer :-

o Frustration / fARTRM

29) Self-evaluation by a teacher shows his role as a AL e grT E’d-ﬁ?ﬂ'iﬁ 3@t
_ Yyt exiar gl

1. Classroom researcher / D&l remeff
2. Reflective practitioner / faeR=id gfte (Ruifaea faeer)

3. Co- learner / W—@Tm?ﬁ(ﬂ%
4. Facilitator / UfR1&fd

Correct Answer :-

« Reflective practitioner / faeReid gfve (Rudifaea DfaeeR)
30) What does the term ‘Dyslexia’ denote? / 'fefRTaT Teg fHA fAsfua wean T
1. Difficulty in taking notes. / '_‘hE\q NEEKGCaird

2. Learning difficulty that can cause problems with reading, writing and spelling. / IR &t Eb‘l%‘ﬂ‘s‘ S
Ug, fera ST it & waan Uar &R abdll 5|

3. Learning difficulty with number processing and calculation. / TR THTH T 3R U & 1Y e A
I



4. Specific handwriting disability. / fafRry ferarae feaaimari

Correct Answer :-

» Learning difficulty that can cause problems with reading, writing and spelling. / IRa &t ?ﬂ%_*ﬂ_sc S
U, fora™ 3R ga-it H gHwr 91 = Il 7

Topic:- General Hindi (L1GH)

1) R A #H, foRd §U B HoI B a4 BT AN T 3AERAT &7 ATI FAT HeThid IR (RRIdT o1
a1 @ it 9 af i ?) & weTeT SR’ Ut 'SiEY IR THaTE Bt fid-R-0d B oy 31 57
Y HeTeTe A Pt AT I gR UfRal &1 $© IR &) SHY INAT UIG B G

YRA # 9T A HF YTTT Siell Selt 6 € foreg R FHM A I¥pd ST UART IR YR | gdT 4Tl HRd &
PH-PH T Byl R fagHl A Tpa & 9D & URdT Tt 1 YR W11 UriF YRd &7 a=iF aur
g R-gR & =0 a Ha

fewTerg wdd 3R TER-TT8Y ANRI B UR H¥b WRA Bt Il BT SR "SU-ARTARIR, “dadr’ 3R
AP, TR &0 T Tg

S TR P UgH? -1 IR T U= $T 3T 9a15¢ :
U ‘SSI’ FT ARG 7?2

1. TG HR AT

2. &3 DT YIRT T HIAT

3. 53 DI Hh DHRAT

4, Y ST

Correct Answer :-

« gIg HR AT

2) R 9 H, foRd §T o $od B A BT AN BT 3ERAT 71 4TI FAT HeThid IR (RRIdT &1
£u1 9 7 ¥t v gd B) & HereTed ‘SRS’ U SiS’ UaR MHarel 31 fidl-ax- Wil B dow A1 3
Y HeTeTe A Pt AT IS gR UfRal &1 $© IR &) SHY INAT UIG B TP

YRA # 9T A FF YTTT diell Selt 61 € forg R FHM A W ST TN IR YR | glaT 4T HRd &
FH-B11 q Bl 3R fAgFl F Tpa & TRY § YR e ST SR URTI YT YRd $T =i a7
o R-® & =0 a B

fewTera uda ofik TER-TTEY ARRY B UR ¥ WIRA B BTl BT HSR ‘SU-ARAARR, ‘U= 3R
ST, gR-GX o¥il b UgT|

ST TR P UGHR 12 IR Y U= HT 3T 9a15¢ :

UT: YR AIfeed 1 WUSR fagri A fa Hrar & sid w12
1. H&pd

2. 5t

3. OTeit



4, QYT

Correct Answer :-

3) A A ¥, 1A §T F 3R T A7 T AR BT 3FRAT &7 AT | AT HeThfa g (et 1
<91 9 A ¥ 99 gd 3) & HeTepred 'sfergs’ aur S UkieR THaral 9 Nidl-ae-did) B dow A1 37
31 HETHTal § o fares SgTsH TR Ufdkdl € | $© IRUT df 39 T I1E R IHd |

YRd § ST T B3 YT Fielt oIl 61 § fbrg R F0M ¥ Opd T TaRT IR YR | gidT 471 YRd &
PH-PH T Hfagl R fagHl A WP & IR § YR Tt o1 YSR WRT| U YR &7 a=14 adT
o gr-gr & =0 9 Tl

fewTerg udd 3R TER-TTEY AWRI B UR S WRA 1 BTl T SR ‘SU-ARAARR, “dadr’ 3R
WA, gR-gR o%M 9% ug Tl

ST TR H UgH - T T Y= $T IR Ja13¢ :
U: WRd ¥ fpat wtag aieft eIl 82

1. T

2.3l

3. U

4. 3D

Correct Answer :-

4) M FHM ¥, e g S oI B A BT AN BT AT 7 AT AT WeTHhia g (et s1a
<A1 9 A ¥ 99 gd 3) & HgTepred 'sfergs’ aun S UtieR MHaral 9 Nidl-ae-did) 9 dow A1 37
31 UETHTal § o fares AgIsH gWR Ufdkadl € | $© aRUT df 399 T I1E R IHd A

YRd § TSI T HS YT gielt ol 61 8 fhmg R F0M ¥ O8pd BT TaRT IR YR | g1 4T| YRd &
FH-B A Hfaat 3R gl I Tpa & TRA § YR e &1 WSR URTI UTNT YRd $T =i adT
e gR-gR & 3= @@ e

fewTerg wdd 3R TER-TTEY ANRI BI UR S WRA 1 I BT SR ‘SU-ARAARR, “dacdar’ 3R
WA, gR-gR <%M 9% ug Tl

ST TRl $ UgH - U T Y= HT IR Ja13¢ :
U R F9M ¥ YR F 5T YT &1 7GR ghar 42
1. ¥pd

2. fgt

3. 3R

4. TTH A PIS T8

Correct Answer :-



5) RMA M ¥, 1A §T F 3R T A7 T @RI BT 3FRAT &7 AT | AT WeThfa g (et 1
<A1 9 At 1 99 gd 3) & HeTepred 'sfergs’ aur S IdieR THaral 9 Nidl-ae-did) B dow A1 37
31 UETHTal § pd fFarey 5T TR Ufdkdl € | $© IRUT df 399 T I1E R IHd |

YRd § ST T BT YT Fielt oIt 61 8 fbrg R F0M ¥ Opd T TaRT IR YR | g1 4T| YR &
PH-PH T Hfagl R fagHl A Ipa & AR § YR Tt 71 YR WRT| U YR &7 g=14 adT
e gR-gR & =0 @ T

fewTera wdd 3R TER-TTEY ANRI BT UR S WRA Bt eIl T SR ‘SU-ARAARR, “dadar 3R
ST, gR-gR o%M 9% ug Tl

ST TRl $ UgH - T T U= $T 3<% Ja13¢ :

UH: HRA BI B Ht BT BT HUSR gR-g1 o= ab Ugan?
1. Had D

2. B HYU-FRAITR

3. dad Udad

4. SWRIad it

Correct Answer :-

. SWRIad gt

6) R WM H, ford T &1 $3T B A BT ARN BT ST &7 AT AT HgThid grR (Rt &1
1 ¥ it W 7 gd 3) & AT shes’ aUn SR IRAR THaTel Bt fdl--0dl B Fow A1 §
S HETeTe! § Po e JgEd SR IRl € | $© IR d) U TNAT I16 B 9hd A

YRA # 9T A HF YTTT Siell Selt 61 € foreg R FHM A I ST TR IR YR | giaT 4Tl HRd &
FH-B11 A Hfaal 3R fagFl I Tpa F TRA § YR g &1 WSR URTI U YRd $T =i adT
O gr-gR & =0 aw T

fewTerg wdd 3R TER-TTEY ARI BT UR HYb WRA 1 DIl BT SR "SU-ARTARR, “dad’ 3R
WA, gR-gR 4% a% ug Tl

IU T TR P UG 1Y YD T U= HT 3w 9d15¢ :

w: ‘gferrs’ iR 3SRy weTHTa ® Fa frarer fea-t uiear 82
1. 38,000

2. 18,000

3. 28,000

4. 27,000

Correct Answer :-

« 28,000



7) WH FHM ¥, /G §T B $o B A BT AR BT RAT & AT AT HgTHid g (a1 s1a
&1 9 o 9 gd @) & wereTer ‘sRrs’ qun SRy IR MAATEr 3 fifl-ar- 1 B Few A1 59
3l wETETe § pa R AgEY gWR Uikl 1 $O IR Al S ST 91g B qHd A

YRA # 9T A FF YTTE diell Selt 61 € foreg R 90 A WX ST UANT IR YR | gaT 4Tl HRd &
PH-PH T Hfagl R fagHl A Tpa & 9D & YRdT Tt &1 YR WRT1 U= YRd &7 a=iF aur
g™ R-® & =0 a Ha

feuTerg wdd 3R TER-TTEY ANRI B UR B WR Bt BT T SR ‘SU-ARAARR, "daci’ 3R
ST, §R-GX 4%l b Ug Tl

IUed TR B USHR A YD T YA BT 36 Ja13¢ ¢
T: ‘g’ ® B A1 99 g2

1. fg g qamg

2. g Uy

3. 3Tt THI

4. PHYRY JANY

Correct Answer :-

8) RTH 9N H, A 5T &l oI HX A BT AN BT SHRAT &7 YT FAT! HETH1d TR (RraPp1 H1et
1 9 it 9 af ud ?) & v IR’ auT S IR THaTa Bt fid-gr-0id 9 o A1 37
S weTHTal ¥ Hot e AgTSH FWR UfRTdl € | $ IRUT @t 39 NI UIE HR Thd A1

YRA § aT | HF UTTE Sielt et 6T € fvmg R FHM # Opd &1 WaRT IR YR | gidT 4Tl YRd &
PH-B11 A Hfaat 3R gl A Tpa & TRY g YR e &1 YSR URTI WTHT YR $T =i a4
g R-® & =0 a6 Hem

fewTera Tda ok TTER-TTeY ARI B UR Fa WRA B! beT-al BT HSR "HUT-ARawmR, dadr 3R
S, TR-GR &0 T Ig

IuYed TR B! UgH I YD T YA BT 36 Ja13¢ ¢
T : ISR fpwes grRT I Ue WeTeTe 82

1. gferge

2. BIARS

3.8

4. oy

Correct Answer :-

9) RTH 9N ¥, A 5T ! $oRI H A BT AN BT SFRAT 71 YT FAT HETH1d AR (a1 H1e
1 @ 9 9 o g B) & weTeTe SR’ aur Sl IRer TRae) Y A-R-0d o dowr A1 57
31 weTHTal H Hot e 5T FWR Ul € | $9 IRUT df 39 NI IS HR Thd A1



YRd § TeT | HS YT Jielt el 6t & fvrg R F0M ¥ Opd T TaRT 9R YR | g1 4T1 YR &
PH-B A Hfaat 3R gl A Tpa & TRA § YR e &1 WSR URTI UTNT YRd $T =i adT
g gR-gR & 3= @@ T

fewTera wdd 3R TER-TTEY ARI B UR S WRA &1 Il BT SR "SU-ARAARR, “dadar 3R
WA, gR-gR o%M 9% ug Tl

ST TRl F Ugh - U T Y= $T IR Ja13¢ :
TL: SR B A?

1. PYIDPR

2. AYUh

3. HETHhid
4. AT

Correct Answer :-

10) R FAM #H, ford §U &1 o B A BT AN BT G171 4TI FAT g ia g (Rraet &1«
a1 4 At 9 af i ?) F wereT SR’ Ut 'SiEY IR THaTd Bt fid-R-0id B o A1 57
3T HeTeTe A Pt AT I gR UfRal &1 $© IR 6) SHY INAT UIG B G

YRA # 9T A HF YTTT Siell St 6 € foreg R F0M A I¥pd ST UANT IR YR | gaT 47| HRd &
PH-PH T Bfagl R fagHl A TRpa & A & yRdT Tt 1 YR WRT1 U YRd &7 a=F aur
O gR-gR & =0 aw T

fewTerg wdd 3R TER-TTEY ANRI BY UR S WRA 1 T4l BT SR ‘SU-ARAARR, “dacdr 3R
WA, gR-gR o%M 9% ug Tl

S T B UGHR A TR ¢ Y2 HT IR a15¢ :
W=: EIER BT WGTHT 82

1. gfergH

2. gfers

3. NSl

1. FTEE

Correct Answer :-

11) R A #H, foRd §T S $oI B A4 BT AN T SARAT &7 4TI FATT HeThid IR (RRI®T1 ®1a
a1 4 it 9 af i ?) F vereT SR’ aun 'SiEY IR THaTe Bt fid-gR-0d B oy A1 57
3T HeTHTe A Pt AT I gWR UfRal &1 $© IR &) SHY INAT UIG B G

YRA # 9T A HF YTTT Siell Selt 6 € foreg R FHM A W ST TR IR YR | gaT 4T HRd &
PH-PH | Hfagl R fagHl A Tpa & 9D & yRdT Tt 1 YR WRT1 UriA YRd &7 o= aur
g R-gR & =0 a Ha



feuTery wdd 3R TER-TTEY ANRI B UR S WR i BT T SR ‘SU-ARAARR, “dacdr’ 3R
S, TR-GR &0 T Tg

IUYT TR B UGHR 14 I 7T U $T I I8¢ :
USH: "HETHT’ Xsg W B T JHIY 82

1. {5

2.58

3. AgSY
4, HHYRY

Correct Answer :-

. HHYRY

12) RME T #, ford g &1 oy B A BT AN BT SFIET &7 4TI FATH AgToia iR (oras &1a
1 @ 9 ) o gd B) & weTeTe SR’ aur S 1er TR 1 Ad-R-0d o dowr A1 57
31 weTHTal ¥ ot e AgTSH FWR Ul € | $© IRUT df 39 INHT UTE HR Thd A1

YRA A T | HF UTTE Sieft ot 6T € fbg RA FHM # Wpd T TaRT IR YR | gl ATl YRd &
PH-PH T Hiagl R fagHl A WP & AR § YR Tt 71 YSR WRT| U YR &7 g=04 adT
g™ R-R & =0 a6 Ham

fewTera wdd 3R TER-TTEY ANRI B UR S WRA Bt BT BT SR ‘SU-ARAARR, “dad’ 3R
TP, TG SR AP Tg

UG T B TR F1Y Y T U= $T IR AT :
U "3FET e BT FaHT Weg T 82
1. Had S

2. Hhad 3JuY
3. had fARTa

4. IRIad g+t

Correct Answer :-

o SWRIad gt

13) RM FAM #, ford gU &1 o B A BT AN BT SFIGT &7 4TI FATH g ia iR (orae &1a
1 @ ) o o gd B) & weTeTe SR’ aur Sl IReR TRa 9t Ad-gR-0d o dowr A1 57
S UETHTal § pd farey SgTSH TR Ufdkadl € | $© aRUT df 399 T I1E $HR IHd |

YRA § T | HF UTTE Fielt ol 6T € fbmg RA FHM # Opd T WART IR YR | gidT 4Tl YR &
FH-PH § Bl R fagHEl A Tpa & 9 § YRAT TR ST WSR WRT1 IR YR ST a=1F auT
fag gr-gr & =0 a )

fewTery udd 3R TER-TTEY ARI BT UR S WRA Bt BT T SR ‘SU-ARAARR, ‘dadar 3R
WP, GR-GR &= 9% Ug|

SUYH T B TgHR F1Y gD MY U $T IR IA1E :



T : fagr wree &1 W <reg T ERI?
1. fagrt
2. fqareit
3. fapRY

4, fagst

Correct Answer :-

14) R 9HM H, foRd §T S $oI B A4 BT AN T SFRAT &7 4TI TAHT HeTHhid 18R (RRI®T o1
&1 9 A W 9 gd @) & wereTer ‘sRrs’ qun SR ReR MAATEr 3 fiefl-aR- 0 B Few A1 59
31 weTHTal ¥ ot FArareR SgTSH FWR Ul € | $© IRUT df 39N NI UG HR Thd Al

YRA § T | HF UTITE Sieft ot 6 € fvmg R F0M # Opd T WaRT IR YR | 8T 4Tl YR &
PH-PH A Hiagi R fAgHT 7 Ipa & FRY § URATT AT BT USR R | YT HRA BT G0 T
g™ R-® & =0 a6 Hem

fewTera wda ok TTER-TTEY ARI B UR Fa YR B beT-al BT HSR "HUT-ARGETR, ‘Tadr 3R
AP, R S TP gl

IUYE TR B UgHR A YD T YA HT S« §d13¢ :

U: HRA & DH-914 d HRAIT AIfged &1 HSR foea wR1?
1. TR A P e

2. Had Hiadl 4

3. o fagri A

4. Bfagl 3R fagHl aHl A

Correct Answer :-

. Pfadl 3R fagrHl aHl A

15) R T #, ford §T &1 oy B A BT AN BT SFIGT &7 4TI FATH g ia iR (oraet &1a
1 @ 9 9 o gd B) & weTeTe SR’ aur S 1er TRaE) 1 Ad-R-0d o dowr A1 57
3 eTHTal ¥ pot FArareR AgTSH FWR Ul € | $© IRUT dt 39 NI IS HR Tha A1

YRT § T | HF UTTE Sieft et 6T € fvmg R FHM # Opd T WaRT IR YURd | gidT 4Tl YRd &
PH-B1 A Hfaat 3R gl A TRpa & TRA g YR Wfe ST SR URTI UTHT YR $T =i adT
e R-® & =0 a6 Ham

fewTera Tda ok TER-TTEY ARI B UR TR WRA B beT-al BT HSR "HUT-ARawTR, ‘dadr 3R
AP, TR-GR & T Ig

IUYed TR B UgH 1 YD M YR $T S« 94130 :
URH: YRd B He1ai fPas! TR o3d gr 320 a& ugs?
1. ST Y B 81



2. fewTea udd iR 9Ri gAY
3. Had fgHIed gda
4. Had IERI

Correct Answer :-

16) ord siafve § sFd T T @R,
THe € TaTg o) 9971 3¢ ge-a3|
RERTIA I IS 9T g8t gt |
3t sra-3i H S g Tl |afti
WA 5 T A TP IR FTW,
8 7w ? 5 ol ugw & fg W)

SUT U F UgH? 1R IR H aTd ¥R $T 3R Farsy|
T WSS W A R A A A @

1. gepid

2. TTHY P To

3. facim

4. qafgardt

Correct Answer :-

17) 3rd faier # ed 39 & @S,
T g} TaTg S 961 @ Io—as |
TRERTTAH I 331 4T Fef Tt
3t sr-3iw # 3w gt Ter |t
W 7O {5 T | 9 7 IR FT W,
98 7w © f & 7 & g WY

IuYed U Bl UgH I YD W1F a1dl U= BT I Ia13¢|
EH: 3Hd &1 faaia reg T g2

1. URY

2. 3P

3. Hiferd

4, 3id

Correct Answer :-



18) 3rd 3fdiel ¥ 3d 3 & @S,
T g} TaaTg Y 961 @ To—aS |
TRERTIE T IS 9T ggt gt
3} -3 A 3w gl Tl g
WA P TEATPH IR PTIY,
a8 W g o ot wyw & g W

Iued U Bl UgH A YD W1 a1 U= BT I qa13¢|
T "3....... TS UfeT & B AT 3EPR 3?2

1. 3T Y IS T8t

2. FIfeRT

3. dehlfok

4. dlu®

Correct Answer :-

. STHIAPIE I

19) 3Fd 3faf¥el A SFd ¢ & @S,
T € TaTg ol 991 | T3 |
RERTTE I IST 94T gt gt

3 ft sr-3iw # 3w gt el |ati
WAGN P TEATPH IR BT,
8 agw ¢ % ol s ¥ Rrg W

ST Ui $I Ugh 1 TR WF a1 YA BT IR qarsu|
W ‘XaaTg’ | @ BT AP @ 82

1.3 Y

2. U™

3. W94 ¥

4, 3fcild ¥

Correct Answer :-

. WHY

20) 3Fd JARe § AT TR @S,
Tuef € TaTg o) 9971 3¢ 9e-a3|
RERTTAE I IS 9T ggt gt
Y -3 H U gl @l |t

WAN P rEATIH IR FTW,
€ ugw R % <t ugw & Rg W

ST YR B UgH 1 TR A a1t U BT I qars|
U: 3aier g 1 Taiaar e B9 91 781 82



1. 94
2.4
3. HIH

4, TUHUST

Correct Answer :-

21) 3id 3iafvel # 3Fd 39 € @S,
[HE § TaaTg il 991 7@ 93-S |
TRERTEAE I 331 74T Fef Tt
3} -3 A 3ruw gl Il gt
WA P TEATPH IR BT,
a8 wgw g o ot ww & g W

IUYed U Bl USHR A YD W1H a1d U= BT IW Ja13¢|
UH: TS H DI GST 52

1.%%

2. qad

3.l d

4. dR

Correct Answer :-

22) 3d e # eFd A @S,
T € TaTg ol 99138 T8—aS |
RERTTE I IS8T 94T gt gt
3t sr=—-3id | oru® gl dar ||
@ 9 41 {6 TP | 7 BT 3R BT W,
a8 uge § b ot agw & fag W

ST TR $I Ugh 1 TR WH a1 YA BT IR garse|
U: ¢ 1 YaTgard Xeg S A1 81 o2

1. &gl

2.3}

3. cld

4. 99

Correct Answer :-

. M9



23) 3Fq 3faflel # 3Fd 3T € WS,
T € TaTg ol 991 ) T8—a3 |
RERTGAH I I3 a4T &1 gaft
3t -3 H U gt @l |t
WAGN P TEATPH IR BT,
a8t ug § b ot agw & fog W

ST UL $I Ugh 1 TR WH 9T YA BT IR qarsu|
UL: adl, JUTY A B Hgl 46T1¢ 82

1. R

2.8y

3. &

4. Mg

Correct Answer :-

24) 3d jafve # sFd da & @R,
Tue € TaTg o) 9971 3¢ ge-a3|
TRERTIAE I IS 9T ggt gt |
3t sr-3i H s g Tl |afti
TG 9 41 {6 TP | 9 BT 3R BT/,
T8 7w ? 5 o vgw & g W)

SUT U P UgH? 12 IR FH aTd ¥R $T 3R Farsy|
U=: dadl forad wWrTa & o w8 72

1. USRI A &

2. TTfol &

3. WU b

4, A b

Correct Answer :-

. RIYBRI AT D

25) 3id 3afvel ¥ a3 € @S,
THE § TaaTg il 991 7@ 93-S |
TRERTIAE T IS 9YT ggt gt |
3t -3 A 3ruw g Tl gt
WA P @ ATPH IR BT,
a8 Wy § o ot wyw & g W

ST U DI UGH - T A aTdt U &1 I qars|



UR: $3 A TaP! TP FHR a1 & ¢ i g1 3, | 2
1. I 3fBHUG 3R Y B

2. TS HT Siia U FgdiiRal R R g

3. U™ &1 BT gl A dRA1 5|

4, TIST 3T Uroft § |

Correct Answer :-

. TS 1 oo SO} TeapTiRar R R 31

26) 3fd 3fafve # eFdea & @S,
qHe € TaTg ol 991 38 IS5
AR I IS8T 94T g6t gt
Y -3 H U gt Tl "t
WAGN PG ATPH IR BT,
T8t ug § b ot i & fog W

IUYed UL $I UgH I YD W1F ard U= BT I qa13¢|
U Hfd & AR "I’ B 8 §I?

1. Uh-gER &1 faiy Y|

2. TH-G¥R U $H1 W |

3. TH-gaR o DI 3|

4. ThH-GER & BIH S 7 3|

Correct Answer :-

. TH-gI & B M|

27) 3Fd AR A Fd¢a g @S,
T € TaTg ol 991 3 T8
RERTTAE I IST 9T dat gt
3t sr-3iw # 3ruw gt Tl |ati
WAN P TFEATIH IR PTW,
a8 ug ¢ b ot age & fog W

ST Ui $I Ugh 1 TR WH a1 YA BT IR qarsu|
U BA $ IFJHR, TS B AT §HT I11eT?

1. I WIUDBRI

2. Hdd AT

3. Hhad YIS B gl

4. IWad g4t

Correct Answer :-



28) 3fd 3jafvel # eFid e & @R,
qHe € TaaTg ol 91 38 T9-a3|
RERTIAE I IST 9T gt gt
Y -3 H i gt @l |t
WAN P TFEATIH IR FTW,
T8 7w ? 5 o ugw & g wv)

SUdT U P TGP 1Y YR SH ard U= P 3w qarsy|
UH: 979 & foraas forg <= anfge?

1. 3 & ferg

2. Y & ferg

3. @ & forw

4, HaTs & forQ
Correct Answer :-

SR SISCARIY

29) 3id 3afvel ¥ 3Fd ¢ & @S,
THE § TaaTg il 991 W@ 93-S
TRERTIA T IS 9YT ggt gt |
3} -3 | 3ruw Bl Il gt
WAGN P TEATFH IR BT,
T8 7w ? 5 ol vgw & g W)

ST U DI UGH - T A aTdt U &1 I qarsy|
UL A P MUY § Y g1 A1fgu?

1. YR-aR

2. AT

3. fRiy g

4. FAYH

Correct Answer :-

. HRARY

30) 3d 3iafve § 3Fd 39 @ @,
T € TaTg ol 991 ) T8—a3 |
RERTTAE I IS8T 9T g8t gt
3} -3 A 3w g e g
WAGN P TEATPH IR PTIY,
a8t ug § b ot agw & fog W



ST YR $I UgH A TR A aTdt U BT I qars|
U TR Ui & AT | Bfd 1 G- ST 91T 82

Topic:- General English(L2GE)

1) Fillin the blank with the correct optionin the given sentence:

When many people move together, they are said to make a --motion.
1. ani--

2. auto--

3. loco--

4. com--

Correct Answer :-

2) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March



Who is a vagabond?

1. Someone who wanders from place to place offering people jobs

2. Someone who wanders from place to place without a home or a job
3. Someone who wanders from place to place looking for a job

4. Someone who wanders from place to place helping others

Correct Answer :-

« Someone who wanders from place to place without a home or a job

3) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

What do you think the sparrows are frightened of?
1. The chilly wind

2. The vagabond

3. The leaves

4. The old man

Correct Answer :-

e The leaves

4) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets



And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

Which part of the year do you think it is?
1. Early autumn

2. Late spring

3. Late summer

4. Early winter

Correct Answer :-
« Early winter

5) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again . -By Joseph M. March

In what manner does the old man walk?
1. With difficulty

2. Briskly

3. Angrily

4. Slowly

Correct Answer :-



« With difficulty

6) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which college did Newton graduate from?
1. Harvard

2. Oxford

3. Stanford

4. Trinity

Correct Answer :-
o Trinity

7) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which fine art was Newton interested in?
1. Music

2. Painting

3. Drawing

4. Dance

Correct Answer :-

» Painting



8) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
1. By means of sunlight

2. By means of moonlight

3. By means of a pair of arms

4. By means of shadows

Correct Answer :-

o By means of shadows

9) Choose the appropriate pronouns for the given sentence.

When was a young girl, mother taught how to read.

1. he, his, him

2. they, their, their
3. she, her, her

4, it, its, its
Correct Answer :-
e she, her, her

10) Fill in the blank with the correct option from those given below:

Always insist on speaking to the in case of any arguments with the staff.
1. managerial

2. managing

3. management

4. managers

Correct Answer :-



e management

11) Fill in the blank with the correct option in the given sentence:

The _____ shown by the newly elected leader was extremely farced.
1. humbled

2. humble

3. humbling

4. humility

Correct Answer :-
e humility

12) Which of the following options best combines the following sentences?
The examination was over. The children were happy.

1. As the children were happy because the examination was over.

2. Happy were the children and the examination was over.

3. The examination was over and the children were happy

4. The examination being over had the children happy.

Correct Answer :-
» The examination was over and the children were happy

13) Choose appropriate articles for the given sentence:

leader had initiated fund raising campaign for downtrodden.
1. no article required, the, the
2. A, no article required, the

3. The, a, the

4. The, an, no article required

Correct Answer :-

e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.



Rajendra Chola smites the enemy in the battlefield.

1. The enemy is smitten by Rajendra Chola in the battlefield.
2. Enemy was smite by Rajendra Chola in battlefield.

3. Rajendra chola smited the enemy in battlefield.

4. The battlefield was smitten by Rajendra Chola.

Correct Answer :-

« The enemy is smitten by Rajendra Chola in the battlefield.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

The fruit of one's toil helps others to continue with the mission.
1. achievement

2. hard work

3. sufferings

4, entertainment

Correct Answer :-

¢ hard work

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

My father home a few minutes ago and

1. has left, isn't returned
2. had left, hasn't return
3. left, hasn't returned

4. leaves, isn't returning

Correct Answer :-
o left, hasn't returned

17) Choose the appropriate antonym for the highlighted word in the given sentence.



You should not be so stern in your approach.
1. strict

2. hard lined

3. flexible

4. kind

Correct Answer :-
o flexible

18) Choose the appropriate conjunction for the given sentence:

I am unwell, I can't attend college today.
1. because

2. hence

3.s0

4. since

Correct Answer :-

19) Choose the appropriate prepositions for the given sentence:

He showed a marked distaste politics his tenure.
1. to, with
2. towards, onto

3.in, around

4. for, during

Correct Answer :-

« for, during

20) Choose an appropriate modal for the given sentence:

The lady standing next to me in the queue asked, ™ I use your phone please?”



1. May
2. Will
3. Will

4, Can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

I've been beating my brains out trying to think of a way of getting the money to her in time.
1. trying to reach a solution

2. hitting my head hard

3. running from pillar to post

4. eagerly waiting

Correct Answer :-

e trying to reach a solution

22) Choose the option that best transforms the sentence into its Indirect form:

‘They should put traffic lights here; otherwise there’ll be more accidents,’ she said.

1. She remarked that by putting traffic lights, there would not be more accidents.

2. She said they should put traffic lights there; otherwise there would be more accidents.

3. She said that they should be putting traffic lights here; otherwise there can be more accidents.

4. She was saying us to put traffic lights here; otherwise there’ll be more accidents.

Correct Answer :-

« She said they should put traffic lights there; otherwise there would be more accidents.

23) Choose the option that substitutes the given phrase appropriately.

Very unhappy, bad tempered and silent
1. Sad
2. Dull

3. Morose



4. Gloomy

Correct Answer :-
* Morose

24) Read the sentence carefully and choose the option that has an error in it:

Although he had scaled many of the world's tallest mountains, he was still looking for more taller
peaks to climb.

1. Although he had scaled
2. more taller peaks to climb.
3. many of the world's tallest mountains

4. he was still looking for

Correct Answer :-
e more taller peaks to climb.

25) Read the sentence carefully and choose the option that has an error in it:

No other quality is more important to acquire for a scientist as to observe carefully.
1. No other quality

2. for a scientist

3. is more important to acquire

4. as to observe carefully.

Correct Answer :-
 as to observe carefully.

26) Change the given statement to indirect speech.
"I can't come to the party on Friday,” she said.

1. She said I couldn’t come to the party on Friday.

2. She said she can’t come to the party on Friday.

3. She said that she can’t come to the party on Friday

4. She said that she couldn’t come to the party on Friday.

Correct Answer :-



» She said that she couldn’t come to the party on Friday.

27) Fillin the blank with the most appropriate preposition in the given sentence.
Where can we go the movie is over?

1. after

2. before

3. below

4, under

Correct Answer :-
e after

28) Fillin the blank with the correct option in the given sentence:

Water consum-- has been particularly high this summer.
1. --ption

2. --ers

3. --ed

4, --ables

Correct Answer :-

29) Choose the right tag:

As soon as they saw the boss they panicked and started running in all directions,
?

1.isn't it
2. weren't they
3. didn't they

4. do they

Correct Answer :-

o didn't they



Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer :-
o 1642

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyard” (gftuw) sftaf & 3mu Far guse 82
1. It does not need oxygen to survive. /‘s’@r\—:ﬂﬁa Q_E{a[ %ﬁ‘lﬁ BRI &t AT SRl :f%)[EﬁT‘ﬁl

2. It is able to tolerate a wide range of altitude. / g $ alé G| Uh i&%&jd %@IQ‘II Cal g6+ BT

A AT B

3. It is able to tolerate a wide range of PH value. / g PH HIH P ﬁﬁﬂ“&ﬂtﬂ DI G- B 1 9eH
BT &

4, It is able to tolerate a wide range of ambient temperatures. / g qRaRI aTgaH! B Udh ﬁﬂﬂ
ST DI g B H G&H BT 5 |

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / g GiRa=f araqH] &1 Th ﬁﬂﬂ
TN B T B H GH g g |

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.



frafifae & @ 19 A of ok 99 o ST & forg A are

1. TUHT 3R URT B TR H1 & T3

2. 951 & PR & ufd IeRiar
3.3l B UGSl & $ABR

1. 1 only / dd 1

2.1and2/1Td2

3.2 only / $had 2

4.1,2and3/1,2Td 3

Correct Answer :-

e 1,2and3/1,2Td 3

3) The position if the sun, the earth, and the moon are in straight line is called: / ﬁff, qu':ﬂ 3R
g 3t Wl Y § g1 w fRufa 1 per o @:

1. Cliff / f[oaw

2. Conjunction / gﬁl

3. Sciche / TTAGTET )ATA(
4. Syzygy / Wﬁg )ﬁf\_ﬂgﬁﬂ(

Correct Answer :-

- Syzygy / gfafagfa foig )Rrersfoi

4) The celebrated monarch known by the epithet "Devanamapiya Piyadaasi” was: JRiE gure
Y Ut “da= U firrewit v & o o A

1. Kanishka / H1%h

2. Ashoka / 31

3. Chandragupta Vikramaditya / TGt famrrfed
4. Akbar / 3 dX

Correct Answer :-

o Ashoka/ 3Mb

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? | TSP BT



M BT 3R IR URA & o W fasga 41 3k 394 o Jrwrerf=at &t
RTAT Bt i, o6 S v B gougRTI gost S A i

1. Taxila / T&IRTel
2. Mathura / HYT

3. Pataliputra / qﬁ?ﬂgﬁ

4. Sakala / JhTdIl

Correct Answer :-

« Mathura / HYRT

6) Under which dynasty, earliest inscriptional information on land grants is
provided? / ford ISGRT & 3feld, YA M W G UYH R@Arer@ SHaR! ygH ot
STt 82

1. The Mauryas / art
2. The Satavahanas / Hlddlgd
3. The Sakas / X[

4. The Guptas / [t

Correct Answer :-

o The Satavahanas / dlddlgd

7) The Minimum Support Price was introduced in India in the year ./ ~gAdH

T geu URd § Ty o o= forar T ATl
1. 1964
2. 1984
3.1974

4. 1954

Correct Answer :-

« 1964

8) What is a favourable balance of trade? / HTUR BT TP HJPd Ao T 22
1. Exports equals imports / fyafa smard & sReR §

2. Exports must be greater than imports / fata smara T sifdre RN



3. Increase quotas / A aam
4, Imports must be greater than exports / fraia & NG T 3aTd 3% g Bl

Correct Answer :-

« Exports must be greater than imports / frafa smara T sifdew RN

9) aimed at providing credit or loan and other facilities to the small and marginal
farmers, agricultural labourers, artisans and small entrepreneurs in rural areas. /

BT 369 UTHior &1 1 B¢ SR i frami, Y uorgRl, FRITRI iR B Iuferal ot
BT T HUT 3R 3 AU U= AT |

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgldHT Tieft ﬂ@l‘[ Pt
ISR TR SHfAfad (F=m)

2. Prime Minister Rural Development Fellows Scheme / AT TrtoT f[de T Bat dier
3. The Rural area Regulatory Board / a8 fame §918
4. The Regional Rural Banks / aftg urr 8

Correct Answer :-

« The Regional Rural Banks / aftg uror 8

10) What type of stream pattern develops on a dome type area? / P9 YR 1 3ryarg ted

Tee & YR & &7 § faRa giar 82
1. Radial / 3R (AfgTa)

2. Parallel / HMIR

3. Dendritic / GHTPIAD (J&THR)

4. Trellis / ST

Correct Answer :-

. Radial / 3R1T }f&Tq)

11) In which river valley hominid fossil has been discovered in India? / HRd T fg =t

1l A gifafre Sharw &1 @ 31 18 82
1. None of these /sﬂﬁﬁﬁ%ﬁ
2. Ganges/TiTIT

3. Indus / ﬁ[?;[
4. Narmada / m



Correct Answer :-

« Narmada/ 7‘|ﬁ3T

12) Who reviews the distribution of revenues between the State and Local Governments on
the one hand and between rural and urban Local Governments on the other? / Udh 3R I

IR T BRI & d1 3R gust 3R IRior iR 68 IR IRERI & o IoRa
& faavor &) Teilen o HraT 8?2

1. District Finance Commission / %TFIT ﬁ?‘f 31TChT[
2. Union Finance Commission / W fod emamT
3. State Finance Commission / 3o fad 3TIRT

4. Zilla Parishad / foTe gRug

Correct Answer :-

. State Finance Commission / Jd fad SMART

13) Who is the head of the Indian Republic? / HTRAII UG & WHH P 82
1. President / TI'gCIﬁT
2. Prime Minister / GUTTHAT

3. Parliament / 939G
4. Judiciary / <TUTfeIehT

Correct Answer :-

« President/ QTE'CI'[%T

14) Who is the author of “Deschooling Society”? / gt WT W" & RGP P %'?
1. John Locke / SIIF @lidh

2. Jacques Rousseau / g =41

3. Jean Piaget / S foarst

4. Tvan Illich / SaM 3o

Correct Answer :-

« Ivan Ilich / 3T Sferd



Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course

of joining the Soviet bloc”. / WW%, “W&W, aﬂw%ﬁwﬁwvﬁ‘@rﬁnﬁm
P I1 HH 3R g, TH W94 B! IUfAREIE ardl Uiy & A1y SiiS 8! Hehd, 3R
ifaad e o wfia 811 1 $i1s Jara sl 781 817

1. Nehru / TBE
2. Krishna Menon / W[ e

3. Tito / f&e
4. Nkrumah / <0 HIG

Correct Answer :-

« Krishna Menon / [ o

16) Who is the overall in charge of the efficient and fair conduct of elections in the

concerned constituency? / Haferd IECIEEEEK: ﬂ:ITEﬂ' & RG] 3R FAreaes ares & Ty
TH B 37

1. Polling officers / AdaT JAfAHRY
2. Returning Officer / fatem (RefHim) sifer
3. Presiding officers / UTSTH H{THRY

4. Visiting / I

Correct Answer :-

+ Returning Officer / fafem (RefHim) s

17) Who was known as “Hazar Dinari”? / "gvIIY ﬁ:l'l'\Pf" * g i | ?ﬁﬁ SIS IGE
1. Balban / ddfd-

2. Razia / o/

3. Mallik Kafur / Hfcidh BTH

4. Tltutmish / SeITORT

Correct Answer :-

. Mallik Kafur / Afcieh HTHR

18) Finding the relation between “altitude” and “temperature” with the help of given

examples happens in which approach? / f¢T 1@ IETERUN &l Hag A "‘"ﬁré" 3R
"ATTHT" & S Sy ST UdT T 59 SURTH A BT 8: -



1. Concentric / Hhigd
2. Chronological / WW

3. Inductive / ANTHATHD
4. Deductive / FTATHS

Correct Answer :-

o Inductive / ANTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the

support of the majority in ./ ST prdw1volt A ug srava® % & uereE @t
CRUCKIR:ERE] i |

1. Rajya Sabha / XIGUHHI

2. Parliament / &

3. Lok Sabha / AIEH

4. Vidhan Sabha / fa& gy

Correct Answer :-

« Lok Sabha / Al HT

20) Receiving, responding, valuing, organizing and characterizing are the levels of which of

the following domain? / UTG ST, UfAfehaT 341, ARG HI1, SHafRUd HIAT 3R quiF
PIATSH ST & TR 8-

1. Affective / HIATHD

2. Revised Taxonomy / GNfer oA
3. Psychomotor / H: R&H

4. Cognitive / GITHD

Correct Answer :-

o Affective / HIATHD

21) During the Mughal rule which of the following traders came to India first? / ¢l RIMAA

P IR Fufafad & A #1991 U ugd URd ST 41
1. English / 3f3Sit
2. Danish/?ﬁl’fﬂ



3. Dutch / &d

4. Portuguese / EJ,_CTTI'I?F[
Correct Answer :-

« Portuguese / ﬂ?ﬁTI?ﬁ

22) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / PR DI TH Yurrat ?
o T & TP g wiitrevor 3R 3 B AR ged gorgal & dta fyvi fan
EIGU

1. Decentralization / ﬁWUT
2. Centralization / WUT
3. Federalism / 994G

4. Democracy / SFIdd

Correct Answer :-

« Federalism / SYdIg

23) is a process that involves the assembling, storage, transportation, packaging
and distribution of different agricultural commodities across the country. /

uferar g R 331 R & At Y axgaif & TuieE, Yisrur, uRasH, ﬁ%ﬁmaﬁ?
fyaror e 8?1

1. Rural development / PICIUAEEES

2. Rural marketing / IrHToT fagor

3. Agricultural marketing / w fauuH

4. Agricultural networking / ?ﬁf FeafdT

Correct Answer :-

« Agricultural marketing / 1% fdUUM

24) The Planning Commission was set up in ./ TISTHT START BT TITIT |
CARIERi ]

1. 1960
2.1940
3. 1950



4. 1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient

Indian sites? / FrETIRET & I {5 urliq YR @« @ Tafard & yamor @t i gs 82
1. Lothal / AU

2. Burzahom / 918 1H

3. Ropar / TS

4. Kalibangan / BTAIS

Correct Answer :-

o Burzahom / @G&?ﬂ:{

26) The most prominent challenge faced by a social science teacher is: / IS ED ﬁ?ﬂq

e & TvE 999 U@ g0 gl 8:

1. Inadequacy of text book and handbooks / UG Yxdh 3R gf@dml&ﬁ ®1 oAt

2. Inadequacy of in-service training programs / JAThTe UFRIE0 BB H! DI ST

3. Lack of proper evaluation tools and techniques / Ifaa W JTHRT 3R qH1p] BT 3HTE

4, Insufficient time to attain long-term objectives / AREINED G%Q’j f 1 U1 & fo K
qHYg

Correct Answer :-

« Insufficient time to attain long-term objectives / AREINED G%Q’j f 1 U1 & fa Klepiivg]

27) The most suitable approach to promote interactive environment in social science class is:

/ AT fAqT ot H&M # R HaTgTd® UikaT &1 9¢ra1 ¢4 & g I Suga
Gircd 0 S

1. Frequent testing / e UR1&for
2. Showing documentation / TS =1
3. Lecture and explanation / G4RSHT 3R TR

4. Cooperative learning / SR H{TH

Correct Answer :-



« Cooperative learning / TgPRI ST

28) The method of inquiry-based learning which gives students time and support, they can
pose original question and investigate through their own methods is known as: / Sid-

e AT Bt usfa ot Bl @) gy iR TuY UeH wdl 7, oI 3 qa@ vy a1
ST YHEIHR WU & D] b HIHH A S HYd €, B! A4 S = & 11 o711 8-

1. Structured inquiry / L NERECIE]

2. Conformation inquiry / faeor St
3. Guided inquiry / F7& RId S

4. Open inquiry / Eifﬂ Sidc

Correct Answer :-

+ Open inquiry / E;,T“ﬁ Sifdc

29) The Village and Small Scale Industries-Committee are also known as U

RS AEfAfd®  FEuAMEHIEEIS]
1. Desai Committee / aﬂ'l_sc gfHfa

2. Krishnan Committee / PWq it

3. Karve Committee / BTd JTHTd

4. Rao Committee / X ATl

Correct Answer :-

o Karve Committee / ﬁﬂﬁlﬁf

30) The method that does not help to develop critical thinking skills among the students is: /

gz fafy < ot & dfa Aaye! A pia ieRa A A agg gt oxdle, @
1. Rote learning / hERS fafer arfermg

2. Project based learning / GRASHT MUTRA 3MferTH

3. Collaborative learning / ‘v’lB“Cn"TlIUf 3T

4. Self-regulated learning / W-fafAafird siferm

Correct Answer :-

« Rote learning / 3R fafe sffermy



The demerit of problem solving method is: / HHXT fraror fafer o1 SIAiUr gl

1. It is purely individualistic in nature. / g W | ﬁ'ﬂ?&' U Y Afgqdre % |

2. It brings affective changes. / Ug HhRIHD ufad= arar %I

3. It does not help in easy assimilation of knowledge. / dg I DI ST I ST B3 H HGG

EHERGI

4, It does not develop power for critical thinking. / g g IEEEE for erar faw Ria 71 Hran
gl

Correct Answer :-

. Itis purely individualistic in nature. / T8 Upfd ¥ foxls U ¥ Afdqard! g1

32) The Government can present demands in the middle of the financial year if
it feels that more money is required than estimated in the annual budget. / YPR foig o
& AT H 3 7T (FEHUS) IR &= TPl § TS 3F avrar 8 i arftfes sore o
SFHT A 3w 4= Bt SraRgFHar 2|

1. Complementary / Y
2. Need — based / STIRIHAT-STTRA
3. Mid — term / HEATAfY

4. Supplementary demands / Y
Correct Answer :-

« Supplementary demands / 3JUIP

33) Which one of the following is not the nature of social science? /Frafafea A S ®4

qraTfere T @ uepfa 1 82

1. Study of man’s development through ages / ?’ﬁ | HIY & fa™ &1 sfega
2. Study of human relationship / HIHd e/l 7 3iemgd

3. Unrealistic course of study / &Y ] STl ureasH

4, A unique combination of various subjects / faftr fowdl &1 U 3131 Hare

Correct Answer :-

o Unrealistic course of study / & DI 3gYTaTe uTushy

34) Which one of the following is measured through CCE? Fefafead 9 fea %ﬁ?ﬁé &
HIH & AT ST 82



1. Physical and motor development of students only / PHad B! BT ARIRD 3R AHRID-Fael
faere |

2. Scholastic and co-scholastic achievement / AT m 3R ﬂg—m RUNIE]

3. Co-curricular achievement only / Had Je-UlagdshH 3Ud |
4. Gradients of scholastic achievement only / $Had Qe IuAf & JdR-deld|

Correct Answer :-

« Scholastic and co-scholastic achievement / Had ﬁ% G?IT ‘Gl_s'-m RUNIE)]

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by

the urban local bodies? /vﬁmaﬁmarﬂ?ﬁﬁmﬁwﬁummmﬁﬁ
aTd 18 BTl o1 gt Frutia ot 1€ 82

1. 12t/ 129}
2. 9th / oY
3. 10th / 104t

4. 11t /119

Correct Answer :-

. 12t/ 12gf

36) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / d& Capk:|

SUYa
S=If® SRS 8 I ArHITS Srera=T & RI&vr & Areay | B & 9t Tyl gedi &)
fawfa s d9em 82

1. Realistic approach / gyrfardl e

2. Idealistic approach / 3TERIaTd! e dior
3. Naturalistic approach / Wﬁﬁﬂfﬂ EHREIW
4. Pragmatic approach / W m

Correct Answer :-

o Idealistic approach / 3fTeRiare) eI

37) Which is the Lightest layer of the earth? / q?fﬁ CAR:GE:| Eﬁ'ﬁ Rd B At %?
1. Lower Mantle / el (UTdR )ﬁ?ﬁ
2. Upper Mantle / $URT (UTAR ) Hed



3. Crust / Y JUcT (YUTa)
4. Core / IS

Correct Answer :-

. Crust/ Y U<t (Yued)

38) Which of the following methods is capable of enhancing psycho-motor abilities of

students? / frferfad # @ #19 @ fafy o= &) 79 0RF emarsi @ gg@ A Jam 8
1. Simulated method / ?ﬁ'ﬁ[ fafer
2. Work experience method / Eap S{JHd fafer

3. Lecture method / RS faf
4. Demonstration method / W fafer

Correct Answer :-

» Work experience method / Eap S{JHd fafer

39) Which of the following is not the educational objective in the teaching of social studies? /

frufafaa § @ o9 g srera ¥ Rigor § e ST T &2
1. Preservation of democracy as a value system / Held JUITelt & =0 H b BT IRET

2. Creating and maintaining democratic citizenship / ApdifAe ARSI BT fAHf0r ST 3R
I BIH G

3. Conquering the territorial jurisdiction of neighboring countries / tﬁ'ﬁﬁ SR b SHYPR &8F W
oo T BT

4. Peaceful co-existence of people in this earth / g8 T;[?-d)f TR AN bl Q'IT%QPT Tg-3fid

Correct Answer :-

+ Conquering the territorial jurisdiction of neighboring countries / q@?ﬂ o= & PR &F R
[EEERISERE]

40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

frafafea 4 3 f5d yoR 9t Sy o URa o 5@ @dt & T8 S o S ST 82
1. Primitive substance agriculture / 3fTfGH Wﬁw
2. Extensive substance agriculture / SATUd qﬂ'ﬁf?ﬁ[

3. Extensive commercial grain cultivation / oTUd> IO 3T B Wt
4. Mixed farming / fHf3d it



Correct Answer :-

« Primitive substance agriculture / 3fTGH EIET?-TTI'E[

41) Which of the following dynasty was ruling in India, when Alexander invaded India? /
frafafaa & @ &1 a1 Ieawr YRd H§ M 6 ¥6T YT, 99 Ridee ¥ WRd IR 3mhHvl
far?

1. Nanda dynasty / BEGE

2. Shunga dynasty / QI’T Rl
3. Gupta dynasty / [t Rl

4. Mauryan dynasty / arfgw

Correct Answer :-

. Nanda dynasty / ¢ 921

42) Which is recognised as one of the first environmental movements in the country? / o

<2 # Uga qafaroiiy Sficierl # | U & U § A=« UTe 82
1. Chipko Movement / Rrge! stigra
2. Kisan Movement / [o g 3figiad

3. Lok Satta Movement / Il 31.IC':IC1"I

4. Narmada Bachao Aandolan / "IJ-Irdl GItIIC’rh 3‘II'C:IQ'1"I

Correct Answer :-

« Chipko Movement / [Iga! 3figia

43) Which among the following is not a scoring tool to evaluate the quality of students? /

BT B UG BT Y B P forg Frafefad & & o1 a1 W I Suar 51 52
1. Rubrics / Sfeidh

2. Observation / 3dcih=T

3. Checklist / AhIeRE

4. Rating scale / Jeddh QU

Correct Answer :-

« Observation / 3dlh



44) Which among the following is one of the first commercial banks established in India? /

frafifed # @ o9 91 yRa § ®ifta yyw aiftifrs dei A d e o2
1. State Bank of India / HRT ¥ T o

2. Bank of Hindustan / §& 3% %W

3. Bank of India / % 3H _SZ'%HT

4. Central Bank of India / @?AT*[ 9% 31 gfean

Correct Answer :-

« Bank of Hindustan / S 3{[th %@F{

45) Which one is not a characteristic of summative evaluation? / ﬁl’H | @' aﬁq ?ﬂw

Y- @t T fasiuar 18 82
1. It is done on a continuum/%ﬁ@ﬂﬁﬂ% WWWWW%I
2. Knowledge of results is not possible / GIRUTH] T I IHT Tal %I

3. It is used for promotion / $TT IYUNT Had YR P forT far Sirar g1

4. It is having a judgmental attitude / T8 U 3MTArETHD I34T T g |

Correct Answer :-

« Knowledge of results is not possible / gRumHl &1 4 SHa T8l % I

46) How many Tirthankaras are in Jainism? / 3 9 § fa didew A2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

47) Who were Manu, Narada and Brihaspati? / ], TR¢ Gﬁ?mﬁq 2
1. Mathematicians of ancient India. / U HRd & TIﬁITﬁH

2. Jain scholars. / S fagH|

3. Gods of Vedic religion. / afews e & aan



4, Law givers of ancient India / UK HRd & YRIHR|

Correct Answer :-

 Law givers of ancient India /EI'I?ﬁ:T HRA & YRR

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | U U B Aifgs so1s & fAfrwa e § Srage? 3t T o i G|
STt 3

1. Depreciation / eIl

2. Revaluation / Eﬁw

3. Re-evaluation / :- W
4. Devaluation / {dHcI

Correct Answer :-

« Devaluation / S{dHcOq

49) National Rural Health Mission in India was launched on i Wﬁ?’l‘@'ﬂ
eI WA = ot H 3= o T At

1. April 2010 / 30, 2010
2. April 2008 / 30d, 2008
3. April 2006 / 3/0d, 2006

4. April 2005 / 315, 2005

Correct Answer :-
« April 2005 / 3, 2005

50) Which economic system shows both the characteristic features of capitalist and
socialist system? / @1 9t 3ffe yomeft yeftard) sz gureard} womeh % g1 fafe faaarait
B gl 82

1. Planned economic system / fAafora sifdfes gomet
2. Command economic system / e Rra i gomett
3. Market economic system / STSIIX e gomeRt

4, Mixed economic system / faf3ra enffe yomeh

Correct Answer :-

« Mixed economic system / o3 snfdfes gomer



51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? /

Prafifed 8 @ 1 YR TP ST Y Afver sre T
1. Kamala Devi Chattopadhyaya / CRIGE] a@'qT?IITq

2. Aruna Asaf Ali / 3{SUI 3 it

3. Annie Besant / Q:ﬁ R el

4. Sarojini Naidu / TRIFSH A1Ig

Correct Answer :-

« Kamala Devi Chattopadhyaya / HHATCA! ag' Tarerg

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi

(Chirag of Delhi)*? / Iz} suaw1 & f5 wRis Yl Oa &t “RRI-u-¢gad (Rt &1
RRTT)” & 919 A ST S| 91

1. Abu Ahmad Chisti / 3§ 3{gHg far<ail
2. Shaikh Nasiruddin Mahmud / [ FH158H Tg4a

3. Qutbuddin Bakhtiyar Kaki / el SRR PHIh]

4. Nizamuddin Auliya / FomE Sfiferan

Correct Answer :-

« Shaikh Nasiruddin Mahmud / Rg %A HgH4g

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / foa

TP A IURT 3R ARG | 3N WYl &Y 75 feeeht # wiiafyd fear
1. Balban / dcldd

2. Muhammad Bin Tuglaq / G&%G fa i

3. Giyasuddin Tughlaq / TTOTGE I el
4, Firoz Shah Tughlaq / e R Jilcin

Correct Answer :-

. Firoz Shah Tughlaq / RIS 208 A

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hfd T Udh IV
5 ATaare=T e gRT S U1?



1. Yajna sri satkarni / Y31 it Tepuft

2. Vasisthaputra Pulumavi / E@TQHH EJ,T:FI?f[
3. Hala / &Tddl

4. Gautamiputra Satkani / ﬁﬂ'ﬁﬁgﬁ e ff

Correct Answer :-

o Hala/@Iddl

55) International Network of Bamboo & Rattan (INBAR) is located at? / €19 3R dd BT

SRIIT Aead (SETATAR) el W R 32
1. Colombo / B!

2. Guwahati / W'I_Cpf

3. Beijing / SIS

4, Dhaka / Il

Correct Answer :-
. Beijing / SIS

56) Which of the following strait separates USA & Russia? / frafafead P
ST ST R & DI 3T Bl 82

1. Bering Strait / CIRURSNRSI ]

2. Semiostrovskiy Reid / ﬁ\#@a‘?ﬁ e
3. Fram Strait / ToTH STQTE(Y

4. M’Clure Strait / TH deyX S

Correct Answer :-

 Bering Strait / ST STerifa

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect
on the environment by the indiscriminate use of the pesticides. Who is the author of this

book? / ‘WATgEIe fBAT, 1962 W UHTIRIA UH HgayUl Y¥dP & | S BIeAIRID] & ATy
ITART | 7afaRur IR UeA ardt Ufded UHTd & TR § forar 81 59 [&d® & agd S 8?2

1. Annie Dillard / T} f&aTS
2. Virginia Arthur / goiifar 3Rk



3. Kathryn Miles / PRI TS
4. Rachel Carson / T2 BT

Correct Answer :-

o Rachel Carson / Qléla W

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /

FrafafEa & § fra Toa ¥ uRa s A I s 32
1. West Bengal / Uige ST

2. Tripura / ﬁ'ERT

3. Meghalaya / gTag

4, Nagaland / EIUINE]

Correct Answer :-

 Tripura/ lagil

59) Anemometer is used to measure which of the following. / T da PR A &
fore wivieR &1 Sua far srar 81

1. Wind Velocity / Ud- T

2. Wind Direction / Ua+ &1 fa=m
3. Humidity / 3Tl

4. Air Pressure / dIg qId

Correct Answer :-

« Wind Velocity / Udd a1

60) Falkland Island is a disputed territory between? / BIPa s gIv fead d ue faarfeq
PERY

1. West Indies and Spain / aﬁg@ﬂﬁ 3R WA
2. Uruguay and France / 3370 3R 1Y

3. Chile and Ecuador / fIeft 3R W@T

4. Argentina and UK / SIS 3R @

Correct Answer :-

+ Argentina and UK / SIS 3R @






